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1. Change 756 millimetres into metres.

. . . . . . . . . . . . . metres

2. Change 241 cm into metres.

. . . . . . . . . . . . . metres

3. The minimum height for the Dragon Falls ride is 1200 millimetres.

Write down this height in metres.

Source www.chessington.com

. . . . . . . . . . . . . metres

4. Change 30 mm into metres.

. . . . . . . . . . . . . metres

5. The High Roller Ferris Wheel has a diameter of 15850 centimetres.

Write down the diameter of the High Roller in metres.

Source www.en.wikipedia.org

. . . . . . . . . . . . . metres

6. Change 7000 mm into cm.

. . . . . . . . . . . . . centimetres

7. Change 75 millimetres into metres.

. . . . . . . . . . . . . metres

8. Change 21 centimetres into metres.

. . . . . . . . . . . . . metres

Answers 1) 0.756 2) 2.41 3) 1.2 4) 0.03 5) 158.5 6) 700 7) 0.075 8) 0.21
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